uva Unline Judge

10778 Mathemagicland

Jack has been abducted by a man in black suit to Mathemagicland. Fortunately, he met a friend Donald
Duck. Donald Duck will help him escape only if he first finds all n-tuple solutions:
{331,.7}2, e ,xn}

and extract the rational numbers in order of magnitude from the n-tuple above, given that:
{o1,09,...,0n}
where

k
= Y I

1<ai;<as<...<aij—1<a1<n j=1
are called the elementary symmetric polynomials.

For example: if n = 1, then

k 1
o= > Ilea= > Tae =

1<a;<n j=1 1<a1<1 =1
If n = 2, then

k 1
o1 = Z Hxaj: Z Hxaj: Z Tq, = X1 + T2

1<ai<n j=1 1<a1<25=1 1<a1<2

k 2
oy = E Hxaj = E Hwaj = g Ta,Lay = T122

1<a1<nj=1 1<a1<a2<2 j=1 1<a1<a2<2

If n = 3, then

o1 = g Tq, = X1+ T2+ T3
1<a1<3

2
oy = g H Ta; = g Tq1Tay = T1X2 + 123 + T2T3

1<a1<a2<3 5=1 1<a1<a2<3

3
g3 = E Hma]. = E La1LagLay = T1T2T3

1<ai<az<a3z3<3 j=1 1<a1<az<asz<3

If n =4, then

op = x1+x2+ T3+ 24

09 = Z1T2+ T1X3 + T1XT4 + Tox3 + Toxy + T3T4
03 = X1X2T3 + T1X2X4 + L1T3%4 + T2T324

04 = T1X2T374

However, since most irrational numbers are impossible to represent exactly using a computer, you
are only required to output the rational components of in numerical order.
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Input

There are less than 1001 test cases. For each test case, the first line contains two integers n and k,

n >0, |kl >0, n <101 k| < 1001.
The second line contains n integers separated by a single space,

koy koo ... ko,

After the last test case, a single integer of ‘0’ is given.

Output

Each n-tuple solution should be outputted in exactly one line and in the form of:

kxg, kxq, ... kzq,,

Such that

{am} C€{1,2,3,...,n} such that z,, € @, kre, <kxa, <...<kxg,

Two n-tuple solutions are said to be the same if they have the same output. Two solutions are said
to be distinct if they are not the same. Output all distinct solutions in lexicographical order, one in
each line. If there is no solution, output ‘No solution.’ without quotes. Print a blank line between

each test case.

Note: All inputs/outputs will fit into a standard 32-bit signed integer.

Sample Input
1
1

SO NN

Sample Output
11



